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Abstract: In this paper we study a transient birth and death Markov process penalized by
its sojourn time in 0. Under the new probability measure the original process behaves as
a recurrent birth and death Markov process. We also show, in a particular case, that an
initially recurrent birth and death process, behaves as an transient birth and death process
after penalization with the event that it can reach zero in infinite time. We illustrate some
of our results with the Bessel random walk example.
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1 Introduction

Consider a transient Markov chain with positive states. Is it possible to force the chain
to have an infinite number of visits at the state 07 Does one have a reasonable manner to
do this? Conditionally to this behaviour, is the resulting chain recurrent or transient? These
are some natural questions when studying penalization for Markov chains, that is to modify
their laws in order to alter some of their properties. In the present paper by penalization one
understands to condition by an event with probability zero, in our case, the event that the
transient Markov chain returns infinitely often at 0.

The penalization of a probability measure (for instance, the distribution of some Markov
process) by some appropriate weights is the main tool of some classical probabilistic ideas
as Doob’s h-transform, Feynman-Kac transform or Girsanov transform. For instance, in
the latter case, an exponential martingale occurs as weight factor and, under some natural
conditions, a new probability measure is well defined. Since, dividing a probability distribu-
tion by a family of weights does not create necessarily a probability family of distributions,
one needs to made some limiting procedure (often as the parameter goes to infinity). The
main features of the penalization procedure have been pointed out in a series of papers by
Roynette, Vallois, Yor (see [12] for a survey). Essentially, one considers continuous parameter
Markov processes (Brownian motion or Bessel processes) and one penalizes by some function
of local time, maximum, one-sided maximum etc.

For instance, one considers (£, {F;}o<t<oo, {R¢t}t>0,P) the canonical Bessel process of
index o € (—1,0), and one denotes {L¢}:>o its local time at level 0. Then one can be
interested on the limit

. Eo[Mah(L)] o _ ) ‘
Jim SpRT S = Q' (4s) = Bo []lASMS } LA, € F, (s fixed), h: Ry — Ry,



and one proves that the process {M, S(h)}szo is a martingale. Then one studies the canonical

process { R }+>0 under the new probability Qéh) and some interesting properties of this process
are pointed out.

The discrete parameter counterpart of the same problems was performed very recently
by Debs [1] for random walks. For instance, if (€2, {Fp}o<n<oo, {Sn}n>0,P) is the canonical
standard random walk and if one calls the local time at 0 the following sequence

bh=0, lpp1=4,+ ]l{gn:(]}, n >0,
then one can be interested on the limit

o B (6,500 + 9 Tis,<0))]
p=e B (M) 15,50} + 9(0p)L(5,<0)]
= Q" (4n) = B[14,M,""), Ay € F, (n fixed), g,h: N — Ry

Again, one proves that {M,(Lh’g) }n>0 is a martingale and one studies the canonical sequence
{Sn}n>0 under the probability Q(h'g). Let us notice that in almost of cases considered in the
cited works, one uses as important tools precise informations on the processes : explicit laws
of hitting times, explicit martingales related to considered processes and so on. This allows
to perform exact computations when proving certain properties.

In the present paper we consider the birth and death Markov chains. Recall that these
processes have the property that only transitions to neighbouring states are possible. This
model comes from applications in biology, the developing in time of a population of particles:
each particle lives for a random length of time at the end of which it splits into two particles
or dies. The process is quite simple and constitutes a generalisation of the standard random
walk on IN (in the discrete parameter setting) and have some similarities with Bessel processes
(in the continuous parameter setting).

We address the previous simple questions, for birth and death Markov chains with discrete
and continuous parameter. Precisely, we penalize the distribution of the transient birth and
death process by the number of visits at the state 0 (which is like local time type penalization).
When we force the chain to visit an infinitely often the state zero it is reasonable to think that
what we get is a recurrent chain. Indeed, we prove that, under the new probability measure
induced by penalization, the chain behaves as a recurrent birth and death chain. The same
procedure works in continuous parameter setting. We point out that in [11] one studies the
Bessel process of dimension greater than 2 (which is a transient process) penalized in some
sense by its local time at 0 (more precisely, by its sojourn time in an interval, see also Remark
4.1 below).

Our approach is elementary in the discrete parameter setting, and it is based on Dynkin’s
formula for pure jump processes in the continuous parameter setting. We would like to
stress that for both situations all we need is the transient feature of the process, but we do
not need neither explicit expressions of transition probabilities (or rates), nor other explicit
informations related to our processes as in previous cited works. In some sense this is one
of the originalities of the present paper, besides the study of the penalization for birth and
death chains.

Is it possible to penalize a recurrent birth and death chain in order to obtain a transient
one? We give a particular example where we penalize a recurrent random walk by the event



to reach zero in infinite time and we get a recurrent birth and death chain. Our proof for this
case uses the expression of the law of the hitting time of zero for a biased random walk and we
obtain a particular birth and death chain, the so-called Bessel random walk. For this reason
it seems that the case of a general birth and death chain is more complicate. We illustrate
some other phenomena by further study of Bessel random walks.

The paper is organised as follows : the main results concerning the penalization of transient
birth and death chains, with discrete and also with continuous parameter, are stated in the
next section. Section 2 also contains an example of penalization of recurrent birth and death
chain. All the proofs are given in Section 3. The example of Bessel random walks, but also
some other examples are discussed in the last section of the paper.

2 Notations and main results

2.1 Discrete parameter setting

Let {X,,}n>0 be a birth and death chain on the canonical probability space (Q, Foo,P).
In other words, {X,,},>0 is a Markov chain, with state space IN and having the transition
probabilities given by:

pe=PXpt1 =0+1|X, =0), ¢ =P(Xpp1 =-1[ X, =),
re=PXps1 =0 X =0 =1—py—qp, £>1, (2.1)

and
po=P(X,11=1|X,=0),q:=0,r9:=1—po. (2.2)

We will denote ,

Yo =1, ye = q_ka t>1, (23)
k=1

and it can proved (see for instance [6], p. 77) the following classical:

Proposition 2.1 The birth and death chain {X,}n>0 is transient if and only if

D e < oo, (2.4)

>0

and in this case we will denote

S=> . (2.5)

Set .
Up = Tgx,gp, 0<n< oo (2.6)
k=0
We are able to state the first main result:

Theorem 2.1 Let {F,, }n>0 be the natural filtration associated to the transient birth and death
chain {Xn}nZO-



1. For any integer n > 0 and any event A, € F,,

Eo[l, 1 -
i oL, v >x)]

=Eg[La M,], 2.7

where

= (5) (-5)" e () 2

1> Xn

2. {M,}n>0 is a positive {Fy, }-martingale which tends toward zero, almost surely. Hence-
forth { My, }n>0 is not uniformly integrable.

3. The equality (2.7) induces a probability measure Qo on (Q, Foo): for any integer n > 0
and any event A, € Fy,

Then, under Qo, {Xn}n>0 is a recurrent birth and death chain with transition probabil-
ities given by:

Pe=Qo(Xpp1 =0+ 1] Xp =10) :=Pe(Chz001M)/(Tysp 1)
(jg = QO(Xn—I—l =/—-1 ’ Xn = 6) = ‘12(21@2(&71 ’Yk)/(zkzl'yk),
e =Qo(Xnt1 =L Xp,=4):=ry £>1, (2.10)

and
Po = Qo(Xny1 = 1] X, = 0) 1= po(S=1/(S—po), Go := 0, T := 705/(S—po). (2.11)

Remark 2.2

1. We suppose that the chain starts from zero only to simplify the computations, but it is
possible to assume that the Markov chain {X,, },>¢ is starting from x # 0. One can obtain a
similar result with minor modifications: for instance in (2.8) one needs to replace the factor

~1
2. As a main example of birth and death chain, we will consider (see also §4.1 below) the

so-called Bessel random walk with index a > —1 or of dimension § = 2(a + 1) > 0 (see also
[7], p. 448, or [8]). The transition probabilities are given by

{420 +1 l
=1 = — = =0,¢>1. 2.12
P e a1 " T A2 T (2:12)
If o = —1/2, {X,, }n>0 is the absolute value of the symmetric standard random walk. Let us

note that {X,,},>0 is transient for a > 0, as we can easily see by using Proposition 2.1. 0



2.2 Continuous parameter setting

Let {X(t)}+>0 be a Markov process parametrized by ¢ € [0,00) and with the state space
IN. For instance, we can think that X (¢) is the size of a population of particles at time ¢t. We
follow [10], p. 373, to describe the continuous time version of the birth and death process
{X(t)}+>0. The changes of states yields as follows: when the process is in state ¢, assume
that are given two independent random variables B(¢) and D(¢), which are independent from
{X(t)}+>0, and exponentially distributed with parameters b, and dy, respectively. A transition
from ¢ to £+ 1 is made if B(¢) < D(¢), which occurs with probability

P[B(() < D(€)] = be/(be+dy); (2.13)

otherwise a transition from ¢ to £ — 1 is made. The holding time in state £ is B(¢) A D(¢),
which is exponential with parameter by + dy (we assume that dp = 0). We may think of B(¢)
as the time until a birth when the population is ¢ and similarly, D(¢) is the time until a death
when the population is ¢; the population increases by one if a birth occurs prior to a death;
otherwise the population decreases by one.

Usually, the birth and death process in continuous time is described in terms of birth and
death rates : in a population of size £ a particle is born at rate b, and dies at rate dy. These
refer to the infinitesimal transition probabilities:

beh +o(h), ifk=1

P(X(t+h)=L+k|X({t) =0 =L dih+o(h), ifk=-1 as h — 0.
o(h), if [k > 1,

It can be seen that these assumptions lead to a model of jump Markov process with the
holding time parameter at £
Ap = by +dp

and the jump from ¢

¢ = +1  with probability be/(b,+d,) (2.14)
=) -1 with probability de/(b,+dy) '
We will denote
Jo=0 and, forn>1, J,=inf{t > J,_1:X(t) # X(Jo—1)} (2.15)
Let us introduce the sequence of random variables {Y;, }n>0, given by
Y, = X(J,), n>0. (2.16)

The proof of the following proposition is classical (see, for instance [6], p. 76-77 and [9],
p. 115):

Proposition 2.3

1. {Y,} >0 given by (2.16) is a birth and death discrete Markov chain with transition
probabilities given by py = b¢/(by+ds), qo = U/(be+dy), £ > 1 and pg = 1. We set as
previously

¢ ¢
qk d
Y=1 and v = — = —, (> 1



2. The continuous time birth and death process {X (t)}i>0 is transient if and only if the
discrete Markov chain {Yy,}n>0 is transient, that is, if and only if

4
S:ZZW=1+ZHZ—:<OO. (2.17)

£>0 £>1 k=1

Let us denote .
V(t) = / ]l{X(S):()}dS, 0<t< o0 (218)
0
The second main result is:

Theorem 2.2 Let {F;}1>0 be the natural filtration associated to the transient birth and death
process { X (t) }+>0 on the canonical probability space (2, Foo, P).

1. For anyt > 0 and any event Ay € Fy,

Eo[L4,L{v(c0)>r}]

i Bo[1 (v (00)>n}] = Eo[La, M(#)], (2.19)
where
(1 boV (t)
M(t) = <§>exp< g > ng:(t)w . (2.20)

2. {M(t)}i>0 is a positive {Fi }-martingale which tends toward zero, almost surely. Hence-
forth {M(t)}+>0 is not uniformly integrable.

3. The equality (2.19) induces a probability measure Qo on (Q, Fo): for any t > 0 and any
event Ay € Fy
Qo(Ay) :=Eg[L 4, M(t)]. (2.21)
Then, under Qo, {X (t)}+>0 is a continuous recurrent birth and death process with birth
and death rates given by:

by := b (k011 W)/ (g me)s £ 0, dp i= (S )/(Synem), £ > 0. (2.22)

2.3 Bessel random walk as a penalized classical random walk

In this section we try to make the reverse work, more precisely, to penalize a recurrent
birth and death Markov chain in order to obtain a transient birth and death Markov chain.
We present a particular example of birth and death chain but the method of proof we have
used in this case (see §3.3 below) seems more complicated for the general situation. Thus it
remains an open question.

Let p € (0,1/2) and we consider a recurrent random walk {Z, },,>0 with transition proba-
bilities

po=P(Zp1=L+1|Z,=0)=p,q:=P(Zps1=0—-1|Z,=0)=q=1—p, VL >1
and po=P(Z,;1=1|2,=0)=1. (2.23)

It is a recurrent Markov chain by Proposition 2.1, since >, v = 2621(4/;;)5 = 00.

6



We shall penalize this chain to reach the state zero in an infinite time. As usual, we denote
by Ty the hitting time of state zero by the Markov chain {Z,},>0 and it is not very difficult
to get an equivalent for P,(7y > k), as k — oo (see Lemma 3.5 below). With this tool in
hand, we can prove:

Proposition 2.4 Let {F,},>0 be the natural filtration associated to the recurrent birth and
death chain {Z,}n>0 with the transition probabilities given by (2.23).

1. For any integers x > 1, n > 0 and any event A, € F,,

Ex[1a, 117>

lim =E,[L4,M)], (2.24)
r—oo By [l >p)]
where (Zn—o)
Zn q nTE —-n
M= Lo 2 (1) (a0 (225)

is a positive {F, }-martingale which tends toward zero, almost surely.

2. The equality (2.24) induces a probability measure Q, on (Q, Fx): for any integer n > 0
and any event A, € Fp,
Qm(An) = Ew[]lAnMylL]- (2.26)

Then, under Qu, {Zn}n>0 is a transient birth and death chain with transition probabil-
ities given by:

1 -1
QulZur =41 Zy =) = T2 QuiZuin =01 Zu=0)= "1, =1,

and  Qu(Zpy1=0|2,=1)=0, (2.27)
that is a Bessel random walk with index 1/2 (or dimension 3).

Now, a very natural problem is to make a similar study for a recurrent birth and death
process in continuous time setting. Consider a continuous time random walk {Z(¢)}+>0: when
the process is in ¢ a transition in £+ 1 or in ¢ — 1 appears with probability b/(b+d) or ¢/ (b+d),
respectively. Here b,d > 0 are the parameters of the exponential times until a birth or a
death, respectively. Thus, the holding times in any state ¢ are exponential with parameter
b+ d. According to Proposition 2.3, the process {Z(t)}+>0 is recurrent if and only if d > b.

It seems clearly that, if we penalize this process to reach the state zero in an infinite time,
we obtain a transient Markov process, at least at a heuristic level. Moreover, in the light of
Proposition 2.4, the underlying Markov chain should be a Bessel random walk with dimension
3. If T, denotes the hitting time of state zero by {Z(t)};>0, it seems that the study of the
equivalent of P,(Ty > k), as kK — 00, is more complicate as in the discrete time setting and
it remains an open problem.

Let us point out that our intuition for the continuous time setting is reinforced by the
study of the drifted recurrent Brownian motion. Indeed, we get the same phenomenon as in
the discrete time setting : when one penalizes the process to reach 0 at an infinite time, the
new process which we obtain is a Bessel process of dimension 3. We state this result in the
following:



Proposition 2.5 Let {B(t)}+>0 be a drifted Brownian motion B(t) := B(t) + ut, where
pu <0 and {B(t)}+>0 is a standard Brownian motion starting from x. We denote, as usually,
{ﬁB’“)}tZO its natural filtration and TéB’“) the first hitting time of 0 by B.

1. For anyt >0 and any A; € ]:t(B,u)’

]ESC |:]]'At]]‘{T(§B»M)>H}i| .

lim ~E, [11 4, MBH) (t)} , (2.28)
B [I{TSB”‘)MJ
where B )
B(t — 4
(B (4) = _ _ e
MPBR (1) .= ]l{TéB’“)>t} < . ) exp < w(B(t) —z) + 5 > (2.29)

is a positive FBM _martingale which tends toward zero, almost surely.

2. The equality (2.28) induces a probability measure QUSCB’”) on: for any t > 0 and any
At G ft(Bv/J')’
QU (Ay) 1= By [14, MP9 (1)) (2.30)

and under QEEB’“), the infinitesimal generator of {B(t)}t>0 is L = 1/28°/da? + 1/z d/da.

3 Proofs

3.1 Proof of Theorem 2.1
a. Proof of (2.7)-(2.8). To begin with, we split Eo[14, 1 {17, >,}] into two terms

Eo[la, Ly >n}] = Eo[la,{Liv,>x} + Livry L, <n} ]
= Eo[1a, 1,55} + Eolla, v >ny Liv,<n}]

and we note that 1y, >, vanishes if k > |7/2].
Consider the second term on the right hand side of the latter equality and the Markov
chain {X, := X,4p — X5 }p>0. Then, for & > [n/2],

Eo[la, L >m L, <ny) = Bo[la, Ly >r] = Eo |:]]-An]l{UOOOOnZH—Un+]l{Xn:O}}]
=B [L4.Bx, (Moo

Here we denoted Uy, = Z 1 (X,=0} and, as usually, {6, }n>0 the family of shift operators. At

p=0
this level we need the following:

Lemma 3.1 For all integers n > 0,

P, (Uno = 1) = (Ro/s)(1 — pofs)" Y, (3.1)
where
Ry=S and R, := Z’yg, n > 1. (3.2)
>n



Let us postpone the proof of this lemma and we finish the proof of (2.7). We deduce that,
for k > |n/2]:

Bo[lLa, 01 0g) = Bo [14, (1, /5) (1 — /)" U Fixnmor 7]
and, when we combine with (3.1) for n = 0, we obtain, for k > |n/2],

Eo[1a, 1y, >k}
Eo[L(,,>x}]

_Un +]]-

=T, |:]]-An(RXn/S) (1 —ro/s) {X”:O}} '

and the proof of the first part of Theorem 2.1 is done.

Proof of Lemma 3.1.
Let us consider f : N — R given by f(0) = 0 and, for n > 1 integer, f(n) = Ze 0 Ve
Then, it is a direct computation to prove that {f(X,) : n > 0} is a F,,-martingale.
We denote by T, the hitting time of n € IN by the birth and death chain and we claim
that, for all n > 1,
P, (Th < o0) = (Xezn10)/5. (3.3)

Indeed, if m > n, by the optional stopping theorem, we get
f(n) =Ey [f(Xna1)] = f(m)Pp(Tin < To) + f(n = 1)[1 = Pp(To > Ty

and we deduce

P, (T < Ty) = (F)=FO0)/(£(m)—5(0)) = (=0 ¥)/(S75 7o)
Since { X, }n>0 is a transient Markov chain, by letting m — oo we obtain

P,(Tp = 00) = (Zi5w)/s  or  Pp(Th < 00) = (Zeznm)/s = Bn/s.

Let us introduce the following stopping times :

T( ) = =Ty and T() = inf{n > T(Z b =0}, if £>1.
By using (2.6), we can write

D oo T 4+ T = o)

Py(Us = 0) = Po(T) + ... + T,
= ]PO(T(EI) < oo)]Po(Té ) < 00 | TO( ) < 00). ..]PO(T(EZ_I) < 00 | Tél) +T(Z b« 00)
x Po(To") = oo | T3V + ...+ TS
= Py(T{" < 00) ' Py(TV = 00) = P1(Ty < 00)" Py (T} = o)

= (ro/s)(1 — /)"

< 00)

Therefore, on the one hand

0(Use 2 k) =Y Po(Use = £) = (1 —pofs)" 1,

1>k

while, on the other hand, if n > 1,
P,(Ux > k) =P, (Ty < 00)Py(Usx > k)

from which we get (3.1) and Lemma 3.1 is proved.
9



Remark 3.2
Let us point out that in fact the limit in (2.7) is an exact equality for k > |n/2]. This is a
somehow different situation with respect to those in [1] or [12]. O

b. Proof of the second part of Theorem 2.1. By using again the fact that {X,,},>¢ is
a transient Markov chain, lim,,_. X, = oo almost surely, and by using (2.1) the remainder
of the series (2.6) tends to zero. Furthermore U, is almost surely finite, hence by (2.8) we
obtain that lim,,_.. M, = 0, almost surely. Then, necessarily, by assuming that {M, },>¢ is
a martingale, it can not be uniformly integrable, since E(My) = 1.

Hence the only thing we need to prove is that {M,,},>0 is a martingale. Since, by (2.8)
and (2.6), for each n > 0,

0 < M, < (1 —ro/s)"%" < (1 —rofs)™",
we see that M, is integrable. We can write:
E [Mp1|Fn] = E [Mp1lix, =x, 1131 Fn] + B [Marilx,  =x,-13Lx, 200 [ F]
+E [Mpilix,, x| Fn] - (34)
By using (2.8) and (3.2), the first term in (3.4) can be written as follows
E [(I/S)(l - pO/S)_UnRXn+1]1{Xn+1=Xn+1}’fN]
= (I/s)(1 _pO/S)_U"RXnHE []I{Xn+1=Xn+1}|‘7:”] = (1/s)(1 - pO/S)_UnRXanXn'
For the second term in (3.4) we split the expectation into two terms
B [Mplgx,  —x, -1 x, 2013 Fn] + B [Moilix, = x,—130{x, =1} [ Fn]
=E [(/s)(1 = ro/s)" " Ry Lix, s =x, -1y L (x,220,1} [ F]
+E[(s)(1 —ro/s)"" TR Tk, —x o1y L=y [ Fal

= (1/8)(1 —ro/s) """ R Ay, 20y (M, z1y + L, =13)E [Lx, =X, —11 7]
= (1/s)(1 = wm/s) "R, _ Lx, 2034y, -

By a similar reasoning we can prove that the third term in (3.4) can be written
E [Mpalix,,  —x.31Fn] = (1/s)(1 —ro/s)" "R, 7, .
We replace in (3.4) and we can write on the one hand,
E [ M1y x, 203 Fn]
= (l/s)(l - po/s)_Un]]'{X'rﬁéO} [anRXn+1 + anRXn*l + TXnRXn]

= (1/s)(1 - pO/S)_Un]l{Xn;ﬁO} [(pxn +dx, + Txn)Rxn T Ax, Vxpo1 — pxn’yxn]
= My1x, 20}

10



by using (2.1), (2.3) and (3.2). On the other hand

B [My11{x,—oy|Fn] = (1/5)(1 = po/s) """ Lix, _oy < o Z’Y@ + 7o Z’Yz
>1 >0
= (1/s)(1 — po/s)_U”]l{ano}S(l —po/s) = (1/s)(1 — PO/S)_U”+1]I{Xn:0}

= Mp1ix, -0}

where we used the fact that » ;o v = S—1and 1o = 1—po. Hence {M,,},>¢ is a martingale.

c. Proof of the third part of Theorem 2.1. Assuming that, under (g, the sequence
{Xn}n>0 is a birth and death Markov chain, with transition probabilities given by (2.10), it
is no difficult to prove that, under g, the chain is recurrent. Indeed, it suffices to use the
result of Proposition 2.1. Set

-
50 =1, ::H;—’;,ezl. (3.5)

Therefore, by using (2.3), (2.10) and (3.2), we can write

¢ ¢
o QRr-1 Ry RoRy
ZW_ZH _ngRkH _;WRERZH

>1 >1 k=1 Pl >1

= SRy Y (YReer — YRe) = SRy lim (I/Ryjy — /R1) =00, (3.6)
N—oo
1
since limy_,o Ry41 = 0, by Proposition 2.1.
We prove that, under Qo, {Xy}n>0 is a birth and death Markov chain with transition
probabilities given by (2.10). Consider, for all integers n > 1 and all integers aq, ..., a,—1 > 0,

the event
Ap_1 = {XO =ag,...,Xp-1= an—l}-

We can write, for £ > 1 and all integers n > 1,

Eo [Lix, . =+1,X, =034, Mn+1]

D = QO [Xn—i-l =0+ 1|Xn = £7 An—l] = 5 by (2-9)

Eo [Lx,=0)n4, 1 Mo

]E ]]_ B B 1 — po/s _U7L+1R
_ 0[ (X 1=041, X, =0)n A, ( /9) Hl]’ by (2.8)

]EO []]-{Xn:Z}OAn71 (1 — pO/S)_UnRZ]

= RZ.’.l ]EO []EO []]'{Xn+1:€+17xn:€}mAn71(1 B po/s)_U7L+1 ’fn]]
Ry Eo [1x,-1n4,_, (1 —Po/s)~Un]

_ Rey1 Eo []I{ane}mAn,l(l —r0/S)"Un Py (Xpy1 = Xn + 1|Fn)]
Ry Eo [1{x,=e3na,_, (1 —Po/s)=Un]

, since {>1

_ Fen Eo [Tx,—na,, (1 —7/5) """ py, | = Ryiq
RZ EO []]'{anf}ﬂAn,l(l — p()/s)—Un] R[

11



With a similar computation we get that, for £ > 1, 7p = ry.
Assume now that ¢ = 0. Then, by using a similar reasoning, for all ag,...,a,—1 > 0,

Po = Qo [Xn+1 =1|X, =0,A4,_1]
B [Lix, 121, x,=0}nA,_, (1 —Po/s) " Unt1 Ry ]
B [H{ano}mAn,l(l —po/s) " ixn=0) Ro]
Ry Eo [1x,-0jna,_, (1 —Po/s)"Pp, ] R <1 @)‘1‘

? ]Eo [H{ano}mAn71(1 — PO/S)_U"'H] N po? B S

, by (2.9) and (2.8)

Furthermore:

7o = Qo [Xn+1 = 0|X,, =0, Ap—1]

_Un+1+1]-{X

EO |:1{Xn+1:07Xn:0}nA7Ll (1 - pO/S) n+1:0} R0:|

—Up+1
Eg [ﬂ{Xn:O}mAnﬂﬂ — pO/S) oy, =0y RO}

— Eq []]-{Xn+1=0,Xn:0}mAn71(1 — po/S)—Un—l—i-l] . (1 B @) .
= Eq [I{ano}mAn,l(l — po/g)—Un—l—l] =To 5 .

3.2 Proof of Theorem 2.2

The proof contains several similar ideas as in the proof of Theorem 2.1. We shall emphasize
the main differences.

a. Proof of (2.19)-(2.20). This part is quite similar to the discrete case. We split
o[ 4,1 v (o0)>r}] = EBolla, Lpy@>ny) + Bolla, Liv(co)y>r) Liv ) <n}]
and we note that 1y >,y vanishes, if k > t. Set {X(s) := X(t +s) — X(t)}s>0 and note

that V(oco) = V(t) + V(c0) 0 0;. Again and, as usually, {6;}+>¢ denotes the family of shift
operators. Then, for k > t:

Eo[14, (v (c0)>r Livty<ny) = Bo [14, L1y (s0)ot, >n—v (1)} = Eo [ﬂAtEX(t) (11{‘7(00)2H_V(t))] ;

where V (00) := /0 ]l{;((t)zo}ds. As for the discrete case we can state:

Lemma 3.3 For all integers n > 0, and for any t > 0,
P, (V(00) > t) = (Bn/s)e™ """, (3.7)
where R, is given by (3.2).

Let us finish the proof of (2.19). For x > t:

o[04 (oc)2}) = BollLa, (R /s)e™ 0 7]

12
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Figure 1: X(t) conditionnally to the event Uy, = 3

and using the preceding lemma again, we obtain for k > t:

Eo[L4,1 (v (00)>r}]
Eo[L (v (00)>r}]

= Eo []]‘At (RX(t)/S)ebOV(t)/SL

that is (2.19)-(2.20).

Proof of Lemma 3.3. Recall that {Y,},>0 is given by (2.16) and we shall denote vl =

> n>0 Liy,—oy- It is no difficult to see that, on the event {Ug) =k}, V(o0) is the sum of k

independent random variables eq, ..., ¢x, the holding times at 0, having exponential distribu-

tion of same parameter Ay = by, and being independent from Ug ) (see Figure 1).

Therefore, by using (3.1), for all integers n > 0,

P (V(o0) > t) = 3 P (UD) = ke + o+ e > 1)

k>0
R NP1, S (bot)!

_ Y) _ _ iin ot L —bot 0

_ZJP”(UOO —k>]P(e1+...—|—ek>t)_Z . <1 S> gy

k>0 k>0 i=0
Ryl i~ (bot) IN' R, 1y~ (ot) 1\', R, —w
=55 X 2 l7g) =we vl w lg)s=Fe

i>0 k>it1 i>0

The proof of Lemma 3.3 is done.

Remark 3.4
We point out again that in fact the limit in (2.19) is an exact equality for xk > ¢, as was noted

in the discrete parameter setting. 0

b. Proof of the second part of Theorem 2.2. As in the discrete case we point out a
useful martingale. At this level we need to recall Dynkin’s formula for pure jump processes

13



(see, for instance [5], p. 262): if f: IN — R is a bounded function such that {f(X(¢))}+>0 is
a pure jump process, then

M (1) = FX(0) = FXO) ~ [ LA(X())ds (38)
is a local martingale, where we denoted
Lf(z) =by[f(x+1) = f(@)] +da [f(z = 1) = f(z)]. (3.9)

If we take in (3.9) f(z) = >_y5, v = Ry, we obtain:
Lf(l') = bx (Rm—l—l - Rx) + dm (R{E—l - Rm) = _bm'yx + dw’ym—l

T z—1

dy dy
=—by || —+ds || — = —bovliz—or = —boLlir—01-
gb£+ gbz 0ol {z=0} 0L {z=0}

Hence { M7 (t)}1>0 given by (3.8) is a local martingale. Therefore, we can apply the integration
by parts formula (see, for instance [5], p. 220) to the semimartingale

t
R, = M)+ S — /0 boll (., 5

and to the finite variation process A(t) := exp(boV()/s). We note that

dR, . =dM7(t) — byl dt, dA(t) = (w/s)e "L, dt

X (t) {X(t)=0} "

and (R, . ,A) =0. We obtain, by using (2.20),

X(1)?

X

t t
SM() = R, YOS 54 / R.. dA(s)+ [ A(s)dRy,, + (R, A)
0 0
t

t
bo V(s) by V' (s)
=5t /0 Ry o€ PN g ds + /0 e <de(s) - bo]l{x<s):o}d$>

t
e / eV s qapd ()
0

and consequently, {M (t)}+>0 is a local martingale. In fact, it is a (true) martingale since, for

all T >0, E( sup |[M(t)]) < exp(boT/s).
0<t<T

b. Proof of the third part of Theorem 2.2. First, we prove that, under Qo, {X(¢)}+>0
is a Markov process. For any n > 1 and arbitrary sequences 0 < top < t; < ... < t,—1 and
agp, ..., an_1 € IN, we consider the event

An—l = {X(t()) = ao, ...,X(tn_l) = an_l}.

14



Then, for all integers k, ¢ > 0,

QO(X(tn—H) =4£ | X(tn) = kf"An—l)

boV(tn+1)/S]

_ Eo (LX) =x (t)=k}nAn s M ()] Bo [L{x(t,11)=.X (t0)=k}A,_, Be€

Eo [Lix()=k}na, . M(tn)] a Eo [Lix(t,)=k}na,_, Ree” /5]
. & EO []l{X(tn+1):Z,X(tn):k}ﬂAn,1 exp (bO(V(tn)+V(tvl+1—tn)oetn)/s)]
Ry, Eo [L{x (1) =k3na, € "]
_ & Eq []I{X(tn):k}mAn71ebov(tn)/S]E []l{X(tn+1)=Z} exp (bO(V(tn+1—tn)09tn)/S) | ]:tn”
Ry, Eo [L{x (1) =k3na, € "5

_ R Eo []l{x(tn)zk}mAnflebown)/SE’f [I{X(tnﬂ—tn)zz}ebownﬂitnvs}]

¢hov /5]

B R_k ]EO []]'{X(tn):k}mAnfl

bO‘_/(tn+1*tn)/Si|
€ ’

— R_k Ek |:]1{)~((tn+1—tn):£}

which does not depend on A,,_;. This proves that, under Qo, {X(t)}+>0 is a Markov process.
Let us study the holding times, under Qq, of the Markov process {X (¢)}+>0, for instance
we shall compute the distribution of J;. For any integer ¢ > 1 and for any o > 0:

Qol,—ad —aJ
]EZQO [e_ajl] _ ]E O[Qe 1]]_{)((0):[}] _ ]E[]]-{X(O):Z}e 1M(J1)] _ EEZ[E_O‘JlM(Jl)]
E O[X(O) = E] ]E[]l{x(o):g}M(O)] RZ
S - —a
= 7 (B (Lo POMBO)] + B [,y POMDWO)])
1 —aB(¢ —aD(¢
"R, <EZ []l{BM)sw)}e o )R“l} +E []l{DWSB(me ol )Ré‘l]) ’
since ]]‘{B(Z)SD(Z)}V(Jl) = 0, Py-a.s. and by using (2.20) and the stopping theorem. Hence
R Ry_
—aJ l+1 —aB(¢ {—1 —aD(¢
Ele™M) = R, E, []l{B(é)SD(Z)}e ()] ™ R, E, [H{Dmsme)}e ()} :
By using (2.13) we can compute :
o0 o b
EJ1 —aB(¢) _ / dr e~ —ngb / d —dgyd — {4 )
(LiB@<p)re ] | dwre ey | dye Ol v P

Therefore, we obtain:

EQ0[e—01] = bRpsr +delly—y _ bpt+de
¢ Ry(by + dp + @) by + dy + «

We conclude that the holding time at £ > 1 is an exponential random variable with parameter
A = by + dy. We stress that for £ > 1 the distribution of the holding time is the same under
the probabilities I and Q.

15



The reasoning is similar for ¢ =0, :

—aJ
EQ0[e01) — B ¢ "M ()] — BB ﬁebovw(o»/s]
E[L,, o M(0) S
Rl —aB(0 b B(0) S—1 b, b() — bO/S
_ Bip o —aBo) _ Sl BO)(—atbo/sy _ o= /s
S 0[6 e S ] 0[6 ] bO_bO/S+O[7

and we deduce that the holding time at 0 is an exponential random variable of parameter
bo(S—l)/S.

Now, we study the underlying Markov chain {Y},},>0 under Q. For any positive Borel
function g : N — R and ¢ > 1, as previously:

EQ L x (0=} 9(X(J1))]
EQ0 [T x(0)=¢}]

Ef[g(11)] = B [g(X (1)) =

E[lx o= 1)<y 9(¢ + 1) Rpy1] N Elx o= 1 {pw<p); 906 — 1) Ry_1]

EQ0 [Ty x ()= R EQ0 [T x(0y=y e
R Ry_
=g({+1) é+1]EZ[]l{B(£)<D( nl+g—1) é (1 py<p@)]
Rey1 by Ry dy
=gl +1 -1 .
g(t+1) Ry bg—l—dg—i_g( ) Ry by+dy

For ¢ = 0, the reasoning is the same. We conclude that under Qq, {Y;}n>0 is a birth and
death Markov chain with discrete parameter and the transition probabilities:

_ Repr by

5y = b _ R dy
‘ Ry bp+dy’

Ry by+d,’

for £ > 1, and pg=1.

¢ .
Then if we set 49 = 1 and 7, = H %, for £ > 1, we have:

)

i=1
¢

-1+ X 11 oy efe

>0 >1i=1 >1i= [ Pilti

According to (3.6) and Proposition 2.1, {Y}, },,>0 is recurrent. Furthermore, according to the
second point of the Proposition (2.3), { X () }:>0 is recurrent under Qo.
If we denote by and dy the birth and death rates of (X (t),t > 0) under Qg,we have:

by _ B b

be+dy =by+d and .
¢+ dg = by + dy De = bt d, R bi+ds

Consequently,
Ry and  dy = dy Ry

by=b
{4 ZRZ Rg’

and (2.22) is proved.
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3.3 Proofs of Propositions 2.4 and 2.5

Proof of Proposition 2.4. To begin with, we need to find an equivalent, as Kk — oo, for
P,(Ty > k), when = > 1 is an integer. For the sake of completeness we state this in the
following:

Lemma 3.5 Let x > 1 an integer. As k — 00,

N o/
P, (Th > k) ~ 4 <—> x <]%> kP (4pg)" T (3.10)

s

As previously, we postpone the proof of this lemma and we finish the proof of (2.24)-(2.25).
As k — 00, we obtain the following equivalent

Be L mz] _ Be R mizn®z, (1) |

E, [H{Tozn}] B E,. []I{TOZH}]

K—00 4 (2)1/2 . <%>I/Z K_3/2(4pq)n/2

™

SETS)

and we deduce the expression of M/, (2.25). As usually, we verify the fact that it is a

martingale. Firstly,
Ent1/2
<g> | fn]
p

1 (Zn—2)/2 ) q En+1/2
tLmen, 2,22y 7 <2—9> (4pq) "B | <2—9> | P

Z, (Zn—=)/2 o 1/2 —1/2
= Lny>n, 2,22~ <%> (4pq)" "2 | p <%> +q <%>

1 q (Z7L*¢C)/2 i) q 1/2 q 71/2 /
+ 1>, 2,22} <];> (4pq) /21 p <];> —q (2—9> =1(z,>2M,,

(Zn—x)/2
Zn (4 n
]Ew |:M'f/l+1]]'{ZnZ2} | ‘FTL] = ]]'{TOZTM ZnZQ}?n <]—9> (4pq) ( Jr1)/2]E

and, secondly,

]Ex [Mflz—l—lll{Zn:l} ’ fn] = E:c

. 2 (q (2—2)2 ) b1y
{TOZnZn+1:2,Zn:1}E 5 (4pq)

-1 2 (4q e 4 -n/2 [ 4 & 4 —1/2 -1 M
= {TOZn,anl}E ]; (4pq) 5 (4pq) *p= {Zp=1}Mp -

17



Finally, to verify (2.27), we denote again A,_1 :={Zy =ag,...,Zpn-1 = ap_1}. f £ > 1:

E, []l{zn+1:e+1,zn:£}mAn71MrlL+1]
]ESC [H{Zn:Z}nAnflM'r/L]
>(Z+1fz)/2

Qm (Zn—l—l =l+1 | Ly = EyAn—l) =

+1 (q
E, |:]]'{TOZ”+17Z7L+1:£+1)Zn:£7}nAn17 <5

(4pq)("+l)/2:|

(e=z)/2
E, |:]]-{TOZTL,ZTL=Z,}OA”1§ (%) (4pq)n/2:|

e g + 1 g 1/2 (4 )71/2 ]Ex [ﬂ{TOZnyz'rH»l:£+1,Zn:£}mA"71] e g + 1
¢ P E, []I{T0>n Zn—Z}ﬂAnfl] 2€p

(+1 +1

X]Pm(T(]Z’I’L,Zn_H :€+1|Zn:€,An_1):

where we used the Markovian feature of {Z,,} under P,. Similarly, we show that
(-1

20
Also, it is clear that Q. (Zn+1 =0 Z, = 1) =0 and (2.27) is proved.

Qu(Zpy1=0—-1|2,=40) =

Proof of Lemma 3.5. To begin with, recall that (see for instance [2], p. 351), for all

s €[0,1],
E, (sTO) _ <1—\/1—4pq5 ) Z]P (Ty = r)s

2p

r>x

It is a direct computation to get:

1—+/1— 4pgs? x_ 1 (—4pq)t oy, 2\ ok .
( 355 ) “mre o 2y ()

k=0 1=0

Therefore, if x and r are of same evenness we find
n+r T (;c+7“)/2_1
B - ( 4]?(] ( +7r)/2 k .
Po(To=71) = (2p (x+r/212 ,1}) 95 !

zflJ (I;T)_l

T T \‘T
(—4pg)“ P2 x |
_ A7) K—it=).
(2p)® <(xJ2rr)>! 12) 2k +1 11) "

1=

After some algebraic computations we obtain

T+ \-%J
(4pq) 2

A o (e )

As r — oo, the only significant term in the latter sum corresponds to k' = 0, hence

P.(To=r) ~ % (%)m (4pq)2 T <x ;r Lo %) ~ % <g>z/2 @,3/2 (4pq)".
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Finally, since P,(To > k) = > .5, Px(To = r), it is no difficult to prove that, as kK — oo,
P, (Ty > k) ~ P, (Ty = k), the first term again. The proof of (3.10) is done.

Proof of Propositions 2.5. It is a classical result, using the Girsanov theorem (see, for
instance [4], p. 197), that, for > 0:

o 2
ZT —T — USs
P, (T"" > k) = Bo(T" > k) = / — oxp <—7( 28“ ) > ds,

and we easily deduce that:

£ —,um—rwz/2

37
]Px(Té & = R) /-z’—\:oo 2 K3

e

Then, as in the proof of Proposition 2.4:

Eo [ﬂAtﬂ{TéB’“)w}] Eo [ﬂAtﬂ{TéB’“)w}E?(t) (ﬂ{TéB’”Bn—t})]

L ] E. (100,
N E, []].At]].{TO(B,;L)>H}(§(t)/Q/27r(}-£—t)3) exp(—puB(t) — (s—t)u?/2)
K00 (#/V2mi3) exp(—px — w/2)

and we deduce the expression of M (B:#) We prove the fact that it is a FE#) -martingale by
using the classical 1t6’s formula. We write
BT __
MED @) = BHY(r),  where V(1) = e B0, (3.11)

Clearly,
t
V() = et — / ¥ (s)dB(s)
0
and then, by the integration by parts formula,

MEN ) = By —1- = [ V()1 — uB(s)dB(s). (3.12)
x T Jo

Let us now study the process {B(t)}+>0 under Q;B’“ ). We consider an arbitrary function
f € C2(R;R). Then, using It6’s formula and (3.12) we can write

P = f@)+ | {FBE)AME (5)-+ P (5)df (Bs)
B0 = f@)+ {—f(F(S))Y(S)(l ~ uB(s)) + f’(F(S))M(B’“)(S)} aB(s)

et —

[ @M ) 4 LB 6) 4 o (6)(1 - B Bl .
0
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Taking the expectation and using (3.11) we get
S (£ (B1)] = Ea |1 (B(t) ME9 ()]
= 10+ | [ {3 @m0 )+ v )@ s
= 1)+ [ B [ @y )] ds = B8 10+ [ £5Bls)as].

where £ = 1/2d°/da? + 1/zd/de. We deduce that under QQB’“ ), the infinitesimal generator of
{B(t)}+>0 is the infinitesimal generator of a Bessel process of dimension 3.

4 Bessel chains and other examples

4.1 Bessel chains

We shall illustrate our results with two examples. In the discrete situation we consider the
so-called Bessel random walk with index o > 0, while in the continuous parameter setting we
adapt this example.

According to Theorem 2.1 one can obtain:

Corollary 4.1  Let {X,,}n>0 the Bessel random walk with index o > 0.

1. For any integer n > 0 and any event A, € F,, (2.7) is verified with the positive no
uniformly integrable martingale

(20 + 1)X,,!

M, = .
DX+ 200+ 1)(2a + 1) Un =0y

(4.1)

2. Let Qo be the probability measure on (2, Foo) given by (2.9). Then, under Qo, {Xn}n>0
is a recurrent birth and death chain with transition probabilities given by:

C+1 l+ 20
pg = 1 d pg:= Qe = £>1. 4.2
Po=1 and o=t b Gee SR e )
Proof. We compute R,, Vn > 0. First, by (2.3):
- i T(+1)
= = — =12 2) ————————— = (2 1)6(2 1,0+ 1).
v Hpi Hz‘+2a+1 Qo+ Fraa g ~ Gt DA+ LI+

1

Then, by (3.2), for n > 1:

Ry=(20+1)) BRa+1,0+1)=Q2a+1)Y BRa+1,l+n+1)=(2a+1)320,n+1),
>n >0

where we used the following equality > ;- B(z,y + k) = B(x — 1,y) (see for instance, [3], p.
950). Hence,

(2a + DI'(2c0)n! 200+ 1
> — = — . .
Tt 2a11) forn>1 ~—and Ry=S=1+R; (4.3)

Fn = 2x
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The expression (4.1) is then a consequence of (4.3) and (2.8). Furthermore, according to
(2.10), p, = PrRr+1/R,,, and using again (4.3) we obtain (4.2).

Remark 4.1

In [11] one considers the penalization of the transient continuous Bessel process {R¢}+>0 with
dimension d > 2 (or of index n = ¢/2 —1 > 0) by its sojourn time in an interval. Set, for
r >0, Ugr) = fg 1}y, (Rs)ds (0 <t < 00). One studies the limit

E, 14,1,
lim [ {00 >t}} ~E, [nAst} = Q" (4,), A, € F, (s fixed).

t_)oo ]E S T
v [ﬂ{ué?»}]

One proves in [11] that :

e the positive martingale m s given by My) := (") (Ry) exp (=101 /2:2), where
W) (2) := D+ 1) [(2r/212)Ta(319/r) Docagr + (2%/2122)*n(21) Lo

and 27 is the first positive zero of the Bessel function J,_1.

o for z > r, under Q' the process {R¢}+>0 has the infinitesimal generator L := 1/2 d°/da2 +
(1=2n)/zd/qz. This process is recurrent and behaves, in a certain sense, as r — 0, as a
Bessel process of dimension 4 — d (or of index —n).

We return to the case of Bessel random walk with index o > —1 and transition probabilities
given by (2.12) and we illustrate now a similar phenomenon as for the continuous Bessel
process. Let us remak that the Bessel random walk could also be characterized by the
following transition probabilities:

1 a+1/2

1 1
P(X,t1=0+1]|X,=40)= 3 <1 + %) , for £,n > 1 integers.

Clearly, if o € (0,1) \ {1/2} (or of dimension ¢ € (2,4) \ {3}),

1 —a+ i H(¢)
Xpp1=0—-1|X,=0)==[1- 2
Q(Xn+1 | ) 2( e_aJr%)Jr

with
ajo — o

BHO = mtrar

As ¢ — oo, we can write

1 —a+ 1
Q(Xn-H:f—l|Xn:£):_<1_€72l

; ) +o(1/s)

2

In other words, if o # 1/2, the behaviour of the chain {X,,},>¢ under @, is that of a Bessel
random walk with index o/ = —a (or with dimension ¢’ =4 — § € (0,2) \ {1}), at least for
large states £. If o = 1/2, the chain {X,, },>0 under @ is a standard symmetric random walk.
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Let us turn now to the continuous parameter example which is built using the previous
example. Let us call it Bessel jump process with index o > 0. It is a pure jump process
{X(t) }+>0 with birth and death rates:

bp=C0+2a+1, dy=1¥{ for >0 integer.
We can state a consequence of Theorem 2.2:

Corollary 4.2

1. For any t > 0 and any event Ay € Fy, (2.19) is verified with the positive no uniformly
integrable martingale

20[ 2aV(t) F(ZO& + 1) X(t)'

M) =5 77e T(2a+ X(£) +1)°

(4.4)

2. Let @ be the probability measure on (, Foo) given by (2.21). Then, under Q, {X¢} >0
s a recurrent birth and death chain with transition probabilities given by:

bp:=0+1,0>0, dp:=0+2a, 0>1. (4.5)

The proof of this corollary is based on the following fact : the underlying jump chain
associated to {X (t)}+>0 is a Bessel random walk with index «. The remaining details are left
to the reader.

4.2 Other examples

Let us state other natural questions: assuming the hypothesis of Theorem 2.2, the pro-
cess {X(t)}+>0, under @, is it recurrent positive? Does there exist an invariant probability
distribution? The answer at these questions is no. Here are two simple examples.

Set, for £ > 0, by := a’, dy := a®, where 0 < a < 1. Therefore, the associated birth and
death process is transient since

n

Y = Haz =a""VR 5= Z a" "R <

(=1 n>0

Reyi  yRenn 5 Rin R

a )= =a*—.
Ry Ry
We compute

T b N 1
= >< >H—1_S2Z e w2 U

j=1
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where

1 Z e
UJ = - : a ( +1)/2
qld=+39)/2 /
>

Since

I

GH+D(+2) £(e+25+3)/2 \ 2 £(0+25+3)/2 \ 2
il _ i (Ze>o a ) LY (Zezo a )

Uj aj<j+1) 2420 a€(£+2j+1)/2 2420 ae<e+2j+1)/2
and, by dominated convergence theorem,

£(£+25+3) /9
2050 @ / _
az(£+2j+1)/2 -

lim

1
j—oo Zezo ’

then lim; .o Ui+1/u; = 0. By D’Alembert criterion, the series (1/s2) ;- U; converges and
therefore the necessary condition for the existence of an invariant distribution (see, for instance
[6], p. 78 or [10], p. 412) is satisfied. Hence, in this case there exists an invariant distribution
for the process {X (t)}+>0 under Q.

Set, for ¢ > 0, by := a, dy := a**', where 0 < a < 1. Again, the associated birth and
death process is transient since

n

On the one hand, by Theorem 2.2 one knows that the process is recurrent under ). On the

other hand: _

9| S ST

e 4 G5

Hence in this case there is not invariant distribution for {X(¢)}+>0 under Q.

Let us note that in previous examples there is no explosion. A natural question is then
the following : if the process explodes is it possible to prove the existence of an invariant
distribution? Again the answer is negative as we can see below.

Let us recall, according to [9] p. 90 , that {X(t)}+>0 can explode if supy~qbs + dp = 0.
Set, for £ > 0, by = (1+£)® and d; = £, with a > 1. Then, obviously sup,> b+ dy = 00, and

S A 1
=l $= 2 g <>

=1 £>0
As previously, we have:
Jj 7 2 J 2
be_1 <Rj> H be_1 1 1
M-y (B) 1% - o5 (S oty
j>1e=1 ¥ >1 S ) 2y de S i>1 \ > (1+0)



Since

1 & 1 1
2 (1+0)0 jioo/j I+ (a—1)(j+ a1’

2]

the series ;- Hizl be-1/d, behaves as the series Zj21(j+1)2_2“, that is convergent if a > 3/2
and divergent if a < 3/2.

Finally, the explosion is not a criterion for the existence of an invariant distribution.

Acknowledgement: We thank Bernard Roynette for many valuable discussions on the
subject and especially about Proposition 2.5 and Remark 4.1.
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